Group-A SET-VI 3k (Marks) : 20

sfag™@ (HISTORY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

. FAF & @aaa 89 9 fReet W g ? 1
(%) et (@) % (M) ¥wive (%) TH
Who was defeated in the Greek war of independence ?
(a) ltaly (b) France (¢) England (d) Turkey

2. W ¥ MeER & fEw A fwmE e 2 1
(F) 1755 (@) 1786 () 1799 (=) 1815

Which year was the Golghar built in Patna ?

(a) 1755 (b) 1786 (c) 1799 (d) 1815

W v & few T w R

Fill in the blanks with appropriate words :

3. Huw fage =1 Age F e 1
The Santhal revolt was led by,

R RIS R |1 F ferani 1

The spming Jenny was mmvented by.......................
11 agl o1 3N AfieRaw 60 VIl ¥ § ¢

Answer the following questions in maximum 60 words :

5. wefE w9 2 e sfiem ¥ 5 i foaem € 2 3
Who was Meternich ? Why he is famous in European history ?
6.  TEMEMF TR AW Ud uSe-diS #1 aviH w1 3

Describe the chemical weapons Napam and Agent-orange.
7. =N TemwE R feof ford 3
Write note on Champaran Satyagrah.
1 wvl @1 S rfereRam 120 el W
Answer the following question in maximum 120 words.
8.  IAMI Tl TR H AU 7
Describe the Greek war of Independence.
SAYAl (or
YEAF HI Ul | SHaEEr @i, HeAw i ug weigl 9 i gfEe wt SR w1

Explain the role of business class, middle class and labour class in the process of urbanization.
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oW b=

ST (ANSWER)

gfagr@ (HISTORY)
(%) qHI
(@) 1786
fag ok #rg
S gt
Tfg Affean &1 iger o1l 98 =R gfafeEarerE on 98 TeaEl ud dldaaeas e #1 g faust
oAl IEA AT H 1815-1848 F " TLAR HI WA TH THIA e H YA F TR ya fwam

FHifauHl faari & J6R & T4 & fau 369 99 W F2SR ufdaas @l 98 e SAas] S W
JegeR off| T U HeX @ 1 $=1 Afqal 1 gem o

1964 Fo H AR g1 3O faoaa ® fFu Tu smeraw § waws e efermmri @ w1 fwan
o 3 THEHS ARl A 98l % AHg Sited U6 wEien] W wd 999 9% 999 S 91 9 99 ° A9
THE FEE AE B 2 S owE § YEifem & @y e T Heo R w1 2 98 @ 9
fagerea So e Far © ofR faielt e = SeasH W 2

TSie-3iS U wE el o foww i w uft gow S of| sue gatenen #i F R JEE el

faer & =R foet # R faorel gr frami 1 oot g & 320 fe W B w9 % fow faaw faan
S | $9 AARiSAT Wl FET S o1l A i et fRaH & o JEameee of, Fie suH el wi
39 wfE FH B S et SeEA w1 Staq IW it U TE et o USRAR Y A TR | s
FI TRV AH T SEAV AT 1917 o H AT F fRoHl & fed § wwmor § AN wEen SomE
SR FAE SREE §%d @1l TS 9o §ara gE |

AN YT TRl e & SeSg g g & o em 0 # e & faww | gt §
ff T & I H SR fwE gt A sus for fedfen fraes Ame deen it T e
" siieier & fou wemm ot w1 S%a @ g e

1821 o ¥ Teiasiver faufaendl & Fga W AW ¥ fage UR &1 7411 1822 H TIHT #9 TSR gt
AR T T 1827 %o § @ GHOH | $IUS, HiE 91 G 4 gl $ fOeE Y5 wEaE] w3 H
frofar form gt & wmels | o foe %Y g3 ¥ A1 35 o e e vgn 1829 fo ¥ ufgama it
Y gR1 9AF 1 TWHETd I g8l SAad: 1832 3o H M HI UH TdA U "ifyd fwar wam s&fen &
IIEE Sfel’ H gAH TS A T

HAYE (or
IRdET A ° wEen: Saarh o, germ i e Aegy 9 # fae e g et -

AT 1 ;- YRR 7 qU-AU HEEE] U U SFGEE a1 ki S {E30 SHeEE wy sAdeRdr, e
1 forear, o2 T9H W qE1 1 ToH, o9 3P FE F1 ygfa 4 el o uw favre sremeh ot S fwan

egw o - A7 uw fafem ot en S gfgsiet oS ot weamn @w wem o wed o fafa= e F
T o, S-foess, asnfaE, awta, fafrces, TS, so=, e o) fFe we =1 yereE, faan,
fafercn enfe == = @ o em

HAG a1 :- YU § FHA-FR@MA T e H1 TG 7 SHH I TAET FE W AR F A w2
e | gfafad Fuw ol %1 A vl § gen vEd #1 SHeed § ged 9€l §ed gl &1 el 2
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Group-B SET-VI 3k (Marks) : 20

WM (GEOGRAPHY)
Frifera agfamedta vl ¥ | wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

9. T #F uifas @fie 7 7 ? 1
(%) Hrfs (@) f= (1) TEH (%) e
Which of the following is not a metallic mineral ?
(a) Mangnese (by Tin (¢) Mica (d) Iron

10. A T HEEA ° R SOOI FR@ 1 T w6 T eff 2 1
(F) TSTHE (@) =& (1) MR (=) fogemeé
Which steel company was established with the help of Germany ?
(a) Raurkela (b) Bokaro (¢) Durgapur (d) Bhilai

1. W A R e w O

Fill in the blanks with appropriate words :

O = 2 B e 0 -, 3 1
............................ is a centre of iron and steel industry in Karnataka.

Gy Al F1 FHREF 2 1
............................ factory is located at Japla.

12. Y& 9iEed #1 7™ 60 IR H e 3

Give some significance of railways mn 60 words.
Frer w3 srfireRaw 60 vl W €
Answer the following questions in maximum 60 words.
13.  gHedi= H1 qRAE FH W 1 969G 92w 2 3
What are the effects of globalisation on Indian agriculture ?
14. 91 w7 #1 I efwan 60 v W T
Answer the following question in maximum 60 words.
T-TRAT I e FA RE-HH Y FRE 7 3
What are the different factors which effect mining activity ?
15. = 97 1 S sfuswan 120 w=ai H 7
Answer the following question in maximum 120 words.
I IEA 1 ggE griferss gwneti #1 9 w1 9 § yq@ 9 SeeE &5 & AW wadl 7

What are the geographical conditions necessary for the cultivation? Name some tea producing areas of

India.
HAYE (or)
T TS | GG F TF W@ gHtad FARe qu fafafed i swifea w2 A sifea wife
(%) fr T sam (@)HTS e &
(M) wHEd E (=) faewr g ()R T99@ HRE@HT
Draw an outline map of India on full page and mark the followmg by shading :
(a)  Gir National Park (b) Manganese producing region
(¢) Kaveririver (d) Chilka lake (e) Durgapur steel plant
wHhad e BEl % fog

Only for Blind Candidates :
foer o =i sEm & fowm W e e

Present a detailed description of growth of sugar ndustry in Bihar.
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10.
1.

12.

13.

ST (ANSWER)

gMe (GEOGRAPHY)
(7)) T
(F) TSTHe
() FAF ¥ AT SEn # B wEEd 2
(i) Suen # HHZ F FR@A 2
@ fEed &1 7ed -

(i) e i T SEmEEE SR T el
(i) 9% MM A FEE GE H 9REed G9E|
(iii) Tt fawma =1 smarfyen

(iv) oS! 9 ¥ SR I9a= FHIA

JHEAIFI F1 I2YF § TAR TS el w1 fava aredfdm | e
JHeTE H1 HT W FEfaten g 72 € -

(i) A qEAE FITE

(i) @S F I=A-H9en3 fEE (High-yieding variety) 31 FamT|
(iii) Ffa IR F TR 9F AR F fau sfaa yewy

A T =1 frefafaa s gafad #@ € -

(i) @S = 3 W gHETl o H SeR ged|
(i) wEEA H FeR 9 e

(i) HER HT AE

(iv) T Hi ol

(v) @t fafu

a9 A & fou smEvaw Grifas e § -

(i) =9 AUEH - 24°C-30°C|

(i) =W _

(i) e gme fugt fomd ey, wiewRE, qew g = guEar el
(iv) =Y =)

(v) T& gfuehi 3iR HE YSIRl H U@

IR W W % Y@ SR a5 § -

(i) SW-YEl IRG-THH, HEeE, 9fved el
(i) sfeor =1 @t em - afgerrg, F39, FHew
(iii) ST-U=T F TeEl &9 - SWEe ¥ tee, fauEe 1w # wire|
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Group-C SET-VI 3t (Marks ) : 17

16.

17

Taifa fa@™ (POLITICAL SCIENCE)
Freifera agfamedta woi § ¥ Wt famwew =+ -

Choose the most appropriate options in the following multiple choice questions :

feresdt faer & forg oot o feom 2 2 1
(%) W (@) T () et (F1) TR

In which district of Bihar is Lichchhwi situtated ?

(a) Pata (b) Nalanda (¢) Vaishali (d) Bhagalpur
fefefed o #H ‘ardE fFam 9’ & vga T 9 ? 1
(%) TfE TR (@) &= foe foda () S YR AR (¥) FY S

Who was the main leader of 'Indian Farmer Association' ?

(a) Rajeev Gandhi (b) Mahendra Singh Tikkait (¢) Jay Prakash Narayan (d) Karpuri Thakur

fE s I 20 9= | Q :

Answer the following question in 20 words :

18.

AT S S g ? 2

What 1s election manifesto ?

1 ugH o1 3w 3tfuehan 50 Il W @ -

Answer the following question in maximum 50 words.

19.

20.

Tk TEeal SR FHEAT W SR e € e 2 3
Democracy is based on liberty and equality. How ?

g favg fra ywr amitss faaem # fog soerh § 2 3

How social inequality is responsible for social division ?

=1 uga =1 S etfieaw 100 YRl H Q

Answer the question in maximum 100 words :

21.

TW TR & w1 UE vl w1 i w 7
Describe the works and powers of village panchayat.

AYE (or
sdfRue TRd Gfaam 1 erum fagivar 21 4 2

Secularism is an incomparable speciality of the Indian constitution. How ?
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16.
17,

18.

19.

20.

21.

ST (ANSWER)

TreHita faa@m™ (POLITICAL SCIENCE)
(1) Vaislahi (J9meit)
(@) we= fae foha
T % g9 gt TeEifas WAt st Hift v wewE & 9n o fafeg w0 o Svon w3 # 1w A
HYOT-939 FEd 2

T 3R GUEAl dikdT B 4 Y9 SER € WdAd & frid 3w % geff Amit # ne w9 9
Al YEH R @1 TEH 90 Ud ifieatad i e, ety oo & s, 9ned s e
@Adl, Y-EaEE 9 Ud Ha€eR g & e

a1 Sfaum wifa, o, s, fom, s, &5 onfe faedt ff = W s @ fagr #1 SR w1

it fade ffyea dr @ gmifss fauee # fau ga &9 9 soee 21 gmites fa9g w1 ga R
S A S @1 YAw gus ¥ fye-fas o, 9, wifa, & & wl fraw e 21 fafasa |
TR T2 &1 foasivar 21 firg wefi-weft =2 fafawm o & foau s e S @1 Ted it s #
TR F¢ W 2| sHfae e fa9g w5 gara w5 E g e # U S1 g 2

T TG % FwE U e fefate € -

T
(i) dEma &9 % fawm # fau affs 9 e 9w @R s

(i) WFfaH AU ® THF GAISd AT Kl FEFA HEAT

(i) HESE FEafd H AT Ha w

(iv) TEias F@f o wfess geantt a5 1

wiferar -

(i) RGO T vl

(i) wHufa o1, uro ug faed #t v

(i) TAfIT M | 9w eE W G@iEd [y 9 gersE oEm ura FE #t vt

YA (or

epifdera e dfasm w1 yge faviar 21 ardr @faum + e & fag frefatea smey
fuifea forg 2 +-
(i) XA = HE TEE 96 T e
(i) T AR w e o, qon-usfa ER FH R gSea IRAE GiEE g 2
(i) Tt off o =t werfasmar 7= < S
(iv) = o =afga wifagel €7 @ e o F1 TER-TER Y 9
(v) oI STHR W R Gfaum fEd o TR w1 dewE @ w o
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Group-D SET-VI 3t (Marks ) : 17

9T (ECONOMICS)
Frifera agfamedta vl ¥ & wEt fawew =7 -

Choose the most appropriate options in the following multiple choice questions :

22, 9RA 1 HEG AF B T 7 1
(F) V2 IF 3w sfoea (@) ford d% aifw zfoen
(1) &g T S () gfn fawm S
Which is the central bank of Indian ?
(a)  State Bank of India (b) Reserve Bank of India
(c)  Regional Rural Bank (d) Land Development Bank

23,  onférer guR (7€ enféms +fifa) =+t = fasioar € 2 1
() SRR (@) fAsireror (1) Fdtemr (=) = @ g

What are the special features of economic reform (New economic policy) ?
(a) Liberalisation (b)  Privalisation (c¢) Globalisation (d) All of these
AU R I 20 9T § € ¢
Answer the following questions in 20 words :
24. T T uiam g 2
Define money.
e uwl @ swe sifaeRan 60 Rl W €

Answer the following questions in maximum 60 words.

25. o T R ? 3
What is sustainable development ?
26. 3udEd SR 2q fafe= AR 6 e 3

Write the different slogans used for consumer awareness.
=1 999 o1 3T sifueRan 120 v W € ¢
Answer the question in maximum 120 words :

27. Tl 2w = onfée fawmm o U o wE wiasate o w1 R AEE © 2 7

What are the contributions of national income and per capita income in the economic development of a
country.

HAYE (or
aRa W SfEeE giaud a1 SuRega 2= w1 o i

Describe the basic amenities or infrastructures in India.
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ST (ANSWER)

rdymE (ECONOMICS)
22. (@) fi=d o% @At e
23, (®) T 9 gt

24, g 9% ¢ foas gu awgetl ud danet w1 wa-fawa e S §, srefq gE <9 A% @ 99 W &
STt &1

25. o fawm ot IR w® ww, fow 9 ® 9% 3w fawm 9 9 Faa adum diet afew adft fE & fawm
F f == A @ S R

26.  SuLEF SPROT 2 frefafe TR E -

(i) S UEE ST

(i) 7w, FELH

(iii) 3199 AfesRl 1 gEEmEl

(iv) G SusER & g SuseEr 2

(v) SUHERT F w9 9 7u IfureRT & e i

27. ot o T Y gerar @ fauerar @l & @ =6 ufa sfE o W U o gR ST S 2

qATHE q1 F YA 29 ATH-3 qhd ¥ fawm w5 A a2, frme e 1 5 Sversd
AT T &A1 S TR S A WK HE Bl ¢ she fon frefata we e W € -

(i) onfeek fasm & &= & O faf@m = g0 IR gom fwan St 2
(i) SUSTR I AR e | St 3 ¥ gfg et 2
(i) M H gfg BH W T Se-TR Tee 1 oTde st el Bl

TEd S G fafm | awgeti @1 wift sared gim 21 58 v ufa wfE o W aEe e H
s o 29 = enfé T g 21

AUl (or

qrd § g glaemd steren smuReE 2= ‘O # w3l ® guH 21 3@ fa fawr w1 wew T
1 S Tl 2

et gfaemd a1 STEReE 2 # S 9§ ste T E W fefated # -

() SNk SMERYE W= - T Gy s &9 4§ e faswm & &l 9 @1 39% ei=wia Fefafea &
qftafea fan smn 21

(%) fag - dfwn &, s &= ef

(@) St - wEen, faga, i, Wi e

(1) AEE - E@d, "EF, T, TATH|

(9) H9R - e, a1, feawM, Jefbar, difear wd 3=

(i) TR-enféeR MUY e - 98 AYAE €Y W WY I &Wal U4 Soied § g # enfien faww o
YEFE Y Rl &1 -, e ud amifes gend gey)
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Group-E SET-VI 3k (Marks) : 06

YT =1 (DISASTER MANAGEMENT)
Freifera agfamedta woi § ¥ Wt famwen =+ -

Choose the most appropriate options in the following multiple choice questions :

28. 26 fagwR 2004 FI IE QAR § R H FE-A1 G QT gAfad gom on ? 1
(%) frpEm (@) @eTE (M) R (%) T @ FE
The tsunami of 26 December, 2004 had mostly affected which island ?
(a) Nicobar (b) Lakshadweep (¢) New Moore Island (d) None of these

29. 1954 ¥ 9RG TR 7§ ag-frEE & fau fFa yer & dee o ? 1
(%) 2 (@) 3 () 4 (%) wF off T
How many Flood-control programmes were made by the Indian government in 1954 ?
(a) 2 (b) 3 (c) 4 (d) No programmes were made

30. = e w1 ST 60 TR H | 4

Answer the following question in 60 words :
I-TgeF 9 FH F FHY IIF Fad|
3T (Answer)

28. (%) FmER
20. (@) 3
30.  9-TEeE F9 wH % Efated ST T i
(i) = SR W s T s
(i) BT S W ga1 T
(iii)y 5@ w R w1 qu eAm e =t
(iv) e TaF & 9 9/ W 99Ea ey 99 3 =@eu
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